2019-2020 2EEAR M 1T L(_E) IR R EE G
(HRBTE: 120 4780, 50 150 4%)
B ARRE 10/NE, w457, 3L 40 53
L FHIERE, RhoREzREC ).
A 1A € 34" D44
2. AR A I, HRE MR OBl AR Ik, SRS & P A 1 A X &
R R 5%, HIER, FARETMERC ).
A BHXE 5%HH S RAEE B, KRTFEH 5% E 7EHE
C. KFHE—ELEESHE D KR HERAHERR D
TR PHEMAERARTD, LFBANESG, HXRFHEEMRC ).
A (—4, =3) B.(—3, —4) C. (-3, 4 D.(—4 3)
A B SEREE A S A IANAZ 3 N2, FUeBk pSE B A = AR B AL 12,
MENHEBEEARA=ARGEBEC ).

A.446 B.8+/6 .8 D.6
5., FHEA =R 2 vk E e BIEDE TR EAG, R TER I RE A ).
A EBRER B. 2 E 4
C. HEHa iR 8 /A 2 H A D. 90° 1 [ F& £ Py vt (152 2 B A%
6. NI ] UL R PR S B AR y=a(x —h)Hahk(az0) B2 ).
A y=3—a(x —h)’ B. y=3+a(x —h)?
C. y=ahk— a(x —h)? D. y=ahk— ax?
7. AL y=xtax+b 5 x BHWZE s AL AR A —b, Wa—bIGER( ).
A —1 B: —2 C.0 D. 1

8. JEA, /NEFI/NTEAR F B A Bt e RO B ST A /N R R R, AT R R
BRI —BRAR, WHIRE N A, ERNIPTERELIESR T A B, 19 4B SR
H, HAF B RSB BC, FTE AB WKL ik# S D, &AM DE, {if45 E 5
C. A#teg. c4: CBLAD, ED1AD,
M BC=1m, DE=1.5m, BD=8 m. &
AEEWERR, RAEHLNER R,
W% AB = ).

A 12m B.24 m C.16m D. 32 mm

9. M, RtAABC'', ABLBC, AB=4, BC=3, PRAABC AI#I—1 34, WL

ZPAB=-PBC, W CPEMm/MER( ).

(55 8 i)



A.% B.1 c. V3—3 D V132 4
10 E%ug@#ﬁgi y:ax2+bx+c(0<2a<b)ﬁ4]mﬁi%] P(xo; _V{})’ =i A(:l’ yff)l

B, ys)» C(—1, yOTEZMAR L, 2y famrnt, 22—Yc
Vi B
A e A M ( ). (%5 9 )

Al B. l C.

2
Tl HERL RBUGL 6N, B4 gr, 32450

1L FRIL KON 4 AR TR AR ML B, 48 B - BEn | BT 52 X 5K,
TP Sk FLAF B 52 DX Sk AT R 5 A :

B 2
3

B | =

12. “IREBE y=—(h —x)—3 BEREZ )
13 =R R 4, KT B2 3, TIZ IR e Y e P A I O A B JEE B2 .
14, B a3, ab=—5, M——+—1

a -5 b"=5

15. AR PR (kA % AT R A I 3 b, A B Ol A O
TEEEA R : O¥EE2MO0 %S, KkES 4. B. C. D.
E. FAANOr s @allAs Av DAL, ACKAXFEmIK, GREH
RH— e @S 06, MoG=__

16. i, FEFHIEMAPRRS, 2 ABCD I A0, 4), BC A
(> WITERRIE, A CHE B A, REBIREO=5 o0y
X
3 e 2
R4y AD. CDF E. F, ¥%4& BF, ©.%1 BC=k, AE==CF, =
2 ol B & x
H S pupasrp=20, W k= . (5 16 i)

LS EL AEIE 9 /N, TG 86 4. TR T H SO L ik R R EE S
17. (A4 8 43)
AR x—4x—2=0.

18. (AR 4T 8 4))
CUHIERT x BT n+(2n— Dx+a=0(n AHEOH A 540, =K 2 B,



19. (A/NEEiR 5> 8 47)

AT, DY T AR T (BRUSEAR R 4h, HAARR), KPR 28k, 5
SRR RE KBRIR T, S AR T o) fa /NELRL SR A 4

(L) TR ATREAR B sl 71 e 1 7 ik e AN S B 1 PSRRI BT T ek s

(2) WURTESE /NS RUEIR bR 1 RIAT 2 Rl — R .

20. (A/NEIH Sy 8 4))
me, & ENNAABCII AC 1 fi, ERJUERTE ABA L#— 5 D, 45
AE-AC=AD-AB({R- B 1E BRI, A5, FFUiHER.

21, (A/NEH S 8 41)
T L AOB=60°, P N'E M — b, M AN 04 L—1, ZEHEPM, LLP AL,

LR B PM AT ey 1200, 75 BNLRER PN, FF H.4 NSRS 2 OB I
() RSN A,
(2) iEM: &5 P—ETEE ZAOB WP E. B

0 A4



22. (A/NiiF 7 10 97)
TR R v b S T A7 Bl R T A A B S LU B AR SR . AT 30 R TR 65—
FlACAS Y 10 TT/BRIIA i e 3 2R m R eSS x Koo M BEOM MR
B, WEERTR:

W n(b) i
1
‘ 3 1<x<20 1, m=—x+20
5 4 Ty
m(JG/Fk) 2 1<x<30 I, m:lOJr42—0
X

(1) THEELRAZRE AN A 25 S0/

(2) RiZFEHA XM R 30 R BFRIRMIE y(T)RT (R R HR R

(3) “BEKARIZIEN, AEIRAHE R, ZEh i 5T AR iX 30 Ko, 3o 355R 5 2 A8
KRR AR e, BEATREHERRTT . 3] B 6 35 NSO IR 48 £ A 40

23. (A/DRE# Y 10 41)
wE, KA SIFIANAABCT, M D2ZAB P A, fEEFHL—8, HZE
DE=2, Bt EB 5% 55 E N4t ied 60°1H RILL BL EF, %4% AF.

(1) mE 1, 2 BE=21), RELE AFRIK;
(2) W2, Rik: E#k AF5 CE FRIrsi 4.
A

7

A1 PEl2



24, (AN S 12 47)

SEIULIE ABCD Wi TG0, MML ACLBD T E, &¥H OC3E BD TH P.
(1) ME1, Rik: LACB=Z0CD;

(2) mE2, {EDFLABTF, 2 ACT H, %8 BH,

@=Rilf: BH=BC;

@ EF, # BC//AD, DE=3BE, E _1_23[’ KOO MERE.

A4
0
@]
£n
B E
\ P B\1 P D
C g
al ) 2

25, (AN fmﬁ 14.9})
YLk y——x~ MAM, S MBI —2, NEMWE L8 RIR 504,
(1) 4 MNscyfr&h‘,%r; A, 3 MAE MK Lx i,
FENHK, Y OM P4y ZNMK It >}‘<N—Aﬁﬁ{m

() FENARE yﬁrdﬂTﬁH‘JE&wa%& 1E—PAREN, A PEENKT y it
R, PR L AW | E. F. R PE. PES A x A O D, SRIF: PC=PD.



2019—2020 ZEmE M L (B WIRAELGRE
(T S

PEFRR. AL 10, BEANE 4 5y, 340 4.
= 1 2 3 4 5 6 7 8 9 10
Ex B D B e D B D @ D D
T HERE. AL 6 N BN 447, AL 24 40
iR 11 12 13 14 15 16
7 1 60
HE — 3 270° = =2
16 5 22 11
= RREAIE. RS 9 /NG, 386 4
170 x> —4x=2
(x=2)7=6
x—2=iw/€

X,=246, x,=2-+/6
18.fF: OXn=01, AEA-x=0, Bx=0
@%n£ 00, MKl H
A=Q2n-D"-4n* =4n’ —4n+1-4n" =—4n+1=0

. 1
se Jl = —
4
19.f%: (1) MR ES

INEL

NI mzm_\ﬂz mmsl 1 82 #A1 mz\ H# 1 W\AM

(2) 1 BTRISEE 12 Rl gest B, K TSR Fds 7RISR [ kil frargest Bid v F 1t
AL 4,
4 1
S P(A)= T
20.f%: 1FE (BE) o g
WE A D TR, 8 LAED = ZB »ee 44
W LA= LA E
S NAED 2 NABC -6 5 D
L AE_AD
AB  AC
Y AE-AC = AB-AD -8 %




29.f#: (1) WHEPIR oo 24

7

B
(2> ZAOB+ ZMPN =60° +120° = 180° KN
o ZPNO + £PMO =360° —180° = 180° P
:. ZPMA+ ZPMO =180° J;
5. ZPMA= ZPNOQ -3 4 0 M T

SalfE PK 1L OB, EEANKK, PT 104, EERNAET
- ZPKB = ZPTO =90°
PM =PN

~APNK 2 APMT -6 4
- PK =PT

R P—ETETE LAOB) T34 b o8 43

22,0 1) RSN

1 4
OHI<x <208, Km=25{CAm -—*20+§x, fEf3x =10

42
DM <x <300, Hm=25RAm=10+22, [@fx=28 2%
X
(2) S WiRER
DA< x <201,

y =(m—10)n :(20+%x410)(*x+50):~%x2 +15x +500 :—%(plsf +612.5

S,

@21 < x<30H,
4 4

T TR et B B e e
1 X X

_Lix-157 46125

21000 B
—420 (21=x=30)

(1=x=20)
gibfrd y =

X

(3) ArpFpih il
DH1< x <208, y=—%(x—15)2+612.5
MRS R R AT R, x =15, yBUSEAE612.5

@21 =< x=301, :21000
&

- 420
v R x B R

sox=210, y IEEAL 580



g ERTE, Mx=150, yHBAMO12.57E o 10 %)

% B,

23.M%: (1O DR FAEFT LAB R N T

ZFEB =60°

ET:%EF:L FngEF:«/g
D 2 AB b s

AD:%AB:d

W AT=AD+DE+ET =7
S AF =N AT? + FT? =213 v 43
(2) & BF

BE = EF, ZBEF = 60°

~ANEFB 5= 10k A
.. BE=BF, ZEBF =60°
AABC 0= >
.. AB=BC, ZABC =60° Fos
<. ZABF = Z/EBC =60° + ZEBA g c
~/NABF 2 ACBE -7 4}
. LFAB = ZECB

L FA 5 CEWzE i K
LZAKC + £FFAB = ZABC + ZKCB
o LAKC = LZABC = 60° +veeee 10 4%

24 AW -
(1) E&OD
AC 1L BD

+. LACB+ £LCBD =90°
oC=0D

5. ZOCD = £0DC

B
5 ZCOD+2/0CD =180° Y ZP 79
sCD =3LCD .

L £LCOD =24CBD




5 LACB = ZOCD +++3 4}
(2) D AC LBD, DF 1 AB
.. ZBAC = Z/FDB
JBC = JiBC
. £BAC = ZBDC = L/FDB
ZAED = ZCED =90°, ED=ED
S HE=CE
AC L BD
S BH = BC 7 4}
@R 0D
BC // AD
.. ZCBD = /BDA
JRCD =3LCD
: ZCBD = ZCAD
;. ZCAD = ZBDA
AC 1 BD
;. ZCAD = /BDA=45°
EA=ED
[EHA]13EB = EC
HOBEB=EC=EH
. ZHBE =45°
ZDFB = Z/AEB =90°
LEFFULHBNEZME L, BIE, F, B, HI IR
. ZHFE = /HBE = 45°
.. ZHFE = #DBC
ZHDE = Z/BDC

JADEF o« ADCB

=



DF DE EF
DB DC BC
WBE=x, WMEC=x, AE=ED=3x

DC = AB=+ AE* + EB* =/10x
Y DF-AB=AE-BD
C12x7 6410
“iox s

1245

3x 5

5 BC=42

BC =~2x
5 =i
.'.DCZ\/mx:%/ﬁ

ZLCOD =2,2CAD =90°

.‘.OC=€DC=4\/§ ...... 1243

. DF

25.fift:
(1)  OM4r ZNMK

5 ZAMO = ZKMO
MK 1 x5
- MK // yhh
- ZKMO = ZAOM
5 LAOM = ZAMO
AM = 40
fEAS LOM, FENHS
5 LASM = ZMKO =90°
~ANAMS « AOMK
. MS A4S
"MK OK
MfFy = ixzj:

=Y



S M(=21)

5

MK=1, 0K=25 MS=OS= 2

L AS =+5

SAM =+ AS? + MS? =%

3
( 2)
WHLZMN :y=kx+b

S =g
AL

‘—jy=%x2fi°}§.N

e fv(Ss%TS)
TENT L ylh, ERNST; EMH L yih, EENEH

LAM _MH 2 6
AN NT 5

(2) WA, #5y=

He&Ny=kx+b

lx2 =kx+b
4

Sxt—dkx—4b=0
s A=16k*+16b=0
Lb=—F
Ly=he=k
~NQk, k)

7o 062k, B°)
BEEEER: 3 =fermiiy =ix2$ﬁ5‘f T HE,F

I 3
M~ x? ke —m =0
J4x m

X —dkx—4m=0



M6k +16m 4k —V16k +16m
. 1 2 L] 2 2
Lxtx, =4k xx, =4m

i s PfEPS /7 x4, YEFG L PST5G, EH L PSTEH

. FG EH _y, —-k° 7k2 — v (v =k +2k) + (y, — k7 )(x, + 2K)

PG PH x,+2k x+2k (x, +2k)(x, +2k)
Oy = k*)(x +20)+ (3, — K ), +2K)
=X, X0 - k? (X, X ) 2R P, F }’2)741"3

1 1 1 .
:Zx|x2(x‘ +x,)—4k* —ak? +2k(1x| +Zx2)

=—4km -8k” + 8k’ + 4km
=0
L LFPG = ZEPH
PG // xHh
.. ZPDC = /FPG, /EPH = /ZPCD
L4 PDC = £ZPCD
~PC=PD e 144y



